KANGOUROU MATHEMATICS COMPETITION Ecolier
Level 3-4

3 point problems - 6épara 3 povadwv

1. Which drawing is the central part of the picture with the star?

Molo oX€DI0 ANOTEAEI TO KEVTPIKO HEPOC TNG EIKOVAC E TO ACTEPI;
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2. Jacky wants to insert the digit 3 somewhere in the number 2014 to make it five-digit
number. Where should she insert the digit 3 if she wants her five-digit number to be as
small as possible?
(A) in front of 2014 (B) between the 2 and the 0
(C) between the 0 and the 1 (D) between the 1 and the 4 (E) behind 2014
H Jacky B€Ael va TonoBetnoel To wngio 3 kanou péoa otov apibuo 2014 yia va Tov
Kavel nevrayngio apiBuo. Mou npenel va TonobeTNoEl To Wwneio 3 €av BeAel o
NEVTaWnQIog apiBUocg va gival o JIKPOTEPOG duvaTog;
(A) ynpooTa ano To 2014 (B) peTa&u Twv 2 kai 0

(C) peTa&u Twv 0 kai 1 (D) peTa&u Twv 1 kai 4 (E) peta 1o 2014
3. Which houses are made using exactly the same pieces of triangular or rectangular
shape?

Moia oniTia KATAOKEUAOTNKAV XPNOILONoIMVTAG TA idla KOPKATIA TPIYWVIKWOV Kal
opBoywVvinv oxnuaTwy;
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4. When Koko does not sleep, he eats 50 grams of leaves per hour. Yesterday, he slept 20
hours. How many grams of leaves did he eat yesterday?

'OTav o Kokog 0ev kolpatal Tpwel 50 yp. UAAG TNV wpd. XBEC, koiunonke 20 wpec.
Mooa yp. UAa £paye XOeC;

(A)O0 (B) 50 (C) 100 (D) 200 (E) 400

5. Maria subtracts and gets as results the numbers from zero to five. She connects the
dots, starting at the dot with the result 0 and ending at the dot with the result 5. Which
figure does she get?
H Mapia kavel TIg apaipeTEIg kal NAipvel WG anoTeAéopaTa apiBpoUg ano To PNdEV HEXP!

TO NEVTE. EVVel TIC KOUKKIOEG, apxilovTag anod Tnv koukida pe To anoTeAeapa 0 kal
TEAEIWVOVTAC ME TNV KOUKIOA KE TO anoTeAeopa 5. Moio oxrpa dnuioupyei;
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6. Adam built fewer sandcastles than Martin but more than Susan. Lucy built more
sandcastles than Adam and more than Martin. Dana built more sandcastles than Martin
but fewer than Lucy. Who of them built the most sandcastles?

O Adam éxTioe AiydTepa kAGoTpa oTnv aupo ano Tov Martin aAAG nepioodTepa anod T
Susan. H Lucy €kTIoE NEPIOCOTEPA KAOTPA OTNV APMO anod Tov Adam kai nepIcodTepPa
ano Tov Martin. H Dana €kTios nepIOOOTEPA KAOTPA 0TV Ao and Tov Martin aAAd
AiyoTtepa and tTnv Lucy. Moloc and 6AouG KTIOE Ta NEPICOOTEPA KAOTPA OTNV AUKO;

(A) Martin (B) Adam (C) Susan (D) Dana (E) Lucy
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7. Monica writes numbers in the diagram so that each number is the product of the two
numbers directly below it. Which number should she write in the black cell?

H Monica ypagel apiBuouc oTo dIaypappa woTe 0 KaBe apiBuOC ival TO YIVOUEVO TwV
OUo apIBPwV akpIBws anod kaTw Tou. Moldv apiBuod npenel va ypawel To Jaupo KouTi;

|
2 2
I
(R)0 (B) 1 ©2 (D) 4 (E)8

8. Ann has four pieces of shapes as shown.

H Ann £xel TEOoEpa KOPKATIA OXAUATA ONWG PaivovTal

-y
PR

With these pieces above she can completely cover the shape. Where should she put the
piece?

Me Ta nio NAvw KOPPATIA Pnopei va kaAUWel nANpws To oxnua. MNMou npénel va
TONOBETNOEI TO MIO KATW KOUMATI;

1
(A) (B) EE' ©)

(D)
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4 point problems - 6uara 4 povadwv

9.

10.

11.

Mr. Brown has painted flowers on the store window (see picture). How does these
flowers look like from the opposite(outside) side of the window?

O k. Brown {wypa®ios AouhoUdIa Navw oTo Napdbupo Tou KAaTaoTAUATog (onwc oTnv
gikova). MNwc 6a aivovral auta Ta Aouloudia and Tnv €EWTEPIKN PEPIA TOU Napadupou.

(A) (B) i © I (D) i (B) i

Some candies were in a bowl. Sally took half of the candies. Then Tom took half of the
candies left in the bowl. After that Clara took half of the remaining candies. In the end
there were 6 candies in the bowl. How many candies were in the bowl at the beginning?

Kanoia yAuka ATav péoa o€ kouna. H Sally nnpe Ta pioa yAuka. Metd o Tom nnpe Ta
HI0G and Ta YAUKA nou €ueivav atnv kouna. Meta n Clara nnpe Ta pioa anod 6oa
EUEIVav. 2TO TENOG €ueivav 6 YAUKA oTnv kouna. Mooa yAuka €ixe n kouna otnv apxn ;
(A) 12 (B) 18 (C) 20 (D) 24 (E) 48

Which tile must be added in the picture at the position ? so that the white area is as big

as the black area?

Mo NAakaki NPEnel va NpooTedei oTNV €IKOVA OTO ONKEI0 ? WOTE TO AONPO PEPOC Eival
TOOO PeyaAo 000 Kal To Jaupo PEPOC;
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H
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12,

13.

14.

Paula shoots arrows at the following target. When she misses, she obtains zero points.
Paula shoots two arrows and adds the number of points. Which of the following sums
cannot be her score?

H Paula pixvel BEAn oTo nio kaTw oTdxX0. ‘OTAV anoTuyxavel naipvel Pndév povadec. H

Paula pixvel 0Uo BEAN kal NpoagBETel TIC Hovadec. Molo anod Ta nio kaTw abpoiouara dev
Mnopei va ival n Badpoloyia TnG;

<>

(A) 60 (B) 70 (C) 80 (D) 90 (E) 100

Seven sticks lie on top of each other. Stick 2 is at the bottom. Stick 6 is at the top.
Which stick is in the middle?

EnTa papdol BpiokovTal N Wia navw otnv aAAn. H papdog pe apiBuo 2 Bpioketal ano
KaTw anod oAouc. Moia paBdo¢ BpiokeTal OTO PEDO;

A\

@ -\ (D)5 (E) 7

\

Rabbit Borya likes cabbages and carrots very much. In a day he eats either 9 carrots, or
2 cabbages, or 1 cabbage and 4 carrots. During one week Borya has eaten 30 carrots.
How many cabbages has he eaten during this week?

[7]

(A) 1 (B) 3 (C) 4

>TO KOUVEN Borya apéoouv Ta papoUAia kal Ta kapdTa napa noAU. Z€ Jia JEpa Tpwel 9
kapdTa | 2 gapoUAia i 1 papoUAl kal 4 kapoTa. Méoa o pia Bdopada o Borya £paye 30
kapoTa. Moéoa papouAia £paye katda Tn didpkela auTnc TnG Boopadac;

(A) 6 (B) 7 (C) 8 (D)9 (E) 10
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15. The solid in the picture was made by sticking eight equal cubes together. How does this
solid look from above?

To oTeped 0TN MO KATW €IKOVA KATAGKEUAOTNKE KOAWVTAC OKTW i00UC KUBOUC pad.
Mw¢ paiveral auto To oTePeO anod navw;

@) e oY o O @ H

16. ;
How many dots are there in this picture?

Mooeg TeAeieg uNApXoUV OTNV EIKOVA;

(A) 180 (B) 181 (C) 182 (D) 183 (E) 265

\ 5 point problems - 0épara 5 povadwv

17. On Kangaroo planet each kangyear has 20 kangmonths and each kangmonth has 6
kangweeks. How many kangweeks are there in one quarter of a kangyear?

>Tov nAavnTn Twv Kaykoupd To KaykoupoETog £xel 20 Kaykoupounveg kai o KAoe
Kaykoupounvac £xel 6 KaykoupoeBdopadec. Mooec KaykoupoBdopdadeg undapxouv o€ &va
TETAPTO €VOC KayKOUPOETOUG;

(A)9 (B) 30 (C) 60 (D) 90 (E) 120
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18.

19.

Seven children are standing in a circle. No two boys are standing next to each other. No
three girls are standing next to each other. Which of these is true for the number of
girls standing in the circle?

69 . % (A) only 3 is possible (B) 3 and 4 are possible
(C) only 4 is possible (D) 4 and 5 are possible
% § (E) only 5 is possible
Q ©

EnTd naidia otekovtal o€ kUKAO. AUo aydpia dev pnopouv va atekovTal dinAa-dinAa.
Tpia kopiTala dev pnopoUv va oTékovTal padi. Molo 1oXUel yia Tov apiBPo Twv KOPITOIWY
MouU OTEKOVTAI OTOV KUKAO;

oo (A) povo 3 eivail duvard (B) 3 kai 4 €ivai duvaTo
& % (C) povo 4 sivail duvatd (D) 4 ka1 5 €ival duvato
@ § (E) povo 5 €ival duvaTo

@ &

Eve arranged cards in a line as it is shown in the figure below. At each move Eve is
allowed to interchange any two cards. What is the smallest number of moves Eve needs
to get the word KANGAROO?

H Eve TonoBeTnoe KAPTEG OE YPaAUMn ONWG (aiveTal nio KATw. € kAbe kivnon n Eve
dikaiouTal va avtaAAa&el onoladnnoTe dUo KAPTEC. Molog €ival 0 HIKPOTEPOG apIBHOG
KIVAOEWV Mou XpelaleTal va kavel n Eve yia va dnuioupynoel Tn AeEn KANGAROO;

O|A|R|G|O|N|KI|A

(A) 2 (B)3 (C) 4 (D)5 (E)6
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20. A sequence of triangles of diamonds is made. The first three stages are shown. In each

21,

stage a line of diamonds is added. In the bottom line the outer diamonds are white. All
other diamonds in the triangle are black. How many black diamonds does the figure
have in stage 6?

Mia o€Ipd ano Tpiywva axnUaTog diapavTiou Exel dnuioupynOei. O1 NpwTEC TPEIC PACEIG
(paivovTal. X kABs pAon HIa YPAUKn Ke SIapavTia NPooTiBETal. TNV KATW YPAUKA Ta
akpiva diaupavria ivai aonpa. ‘OAa Ta aAa diapavTia sival pavpa. Moéoca pauvpa
dlaupavTia £xel To oXNUa oTn ¢aon 6;

1 2
¢ ¢
DAMVEIN )X I/
A A A4 2

Kangaroo Hamish bought toys and gave the shop-assistant 150 Leis. He received 20
Leis back. Then he changed his mind and exchanged one of the toys for another. He
got back an additional 5 Leis. What toys did Hamish bought at the end?

O Kangaroo Hamish aydpaoe naixvidia kai €dwoe oTov UNAAANAO TOU KATAOTAPATOG
150 Leis. Mrpe 20 Leis poTa. MeTa aA\a&e yvaun kai avtaAa&e Eva anod Ta naixvidia
ME kanolo aAho. Mnpe peoTta akoun 5 Leis. Moia naixvidia ayopace TeAika o Hamish;

(A) the carriage and the plane - n aua&a kal To agponAavo

(B) the carriage and the bus - n aya&a kai To Aewpopeio

(C) the carriage and the tram - n auya&a kai To Tpaivo

(D) the motorcycle and the tram - n YJoTooUKAETA Kal To Tpaivo

(E) the bus, the motorcycle and the tram - To Aewpopeio, N HOTOOUKAETA Kal TO TPAivo
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22, Write each of the numbers 0, 1, 2, 3, 4, 5, 6 in the squares to make the addition

23.

24,

correct. Which digit will be in the grey square?

Mpawe Tov kabéva anod Toug apiBpoug 0, 1, 2, 3, 4, 5, 6 oTa TeTpdywva yia va ivai n
npoaBeon owoTr. Molo wngio Ba gival oTo Ykpilo TETPAYWVO;

(A)2 (B)3 (4 (D) 5 (BE)6

+

What is the largest number of small squares which can be shaded so that no square

made of four shaded small squares appears on the figure?
Molog €ivai o usya)\l'JTspoi ailepéq ano MPIKpA TETPAywva rnou pnopouv va oKiaoTouv

WOTE Kaveva TETPAYwvVo ano TEooepa PIKPA TETPAYWVA ePavileTal oTo OxXnKa;

(A) 18 (B) 19 (C) 20

(D) 21 (E) 22

Nick has written each of the numbers from 1 to 9 in the cells of the 3 x 3 table. Only
four of these numbers can be seen in the figure. Nick has noticed that for the number 5
the sum of the numbers in the neighbouring cells equals 13 (neighbouring cells are
cells sharing sides). He noticed the same applies for the number 6.

Which number has Nick written in the shaded cell (the middle one)?

O Nick &ypawe Tov kabeva anod Toug apiBuouc 1 péxpl 9 oTa TETpaywvakia Tou nivaka 3
X 3. MOvo o1 TEOOEPEIC and auTouc Toug apiBpouc qaivovtal ato axnua. O Nick npooste
OTI yia Tov apiBuo 5, To aBpoioua Twv apIBPWV TWV YEITOVIKOV TETPAYWVWY IooUTal JE
13 (yeIrovika TETpAywva €ival TETpAywva nou EXouV Koivi NAeupa). MNpoaoeke eniong oTI

IoxUel To idI0 Kal yia Tov apiduo 6.

Moiov apiBuo éypawe o Nick oTo okiaypa@nuévo TETpAywvo (To PETaio);

Il 2] (a5 (B) 6 ©)7 (D) 8 (E) 9
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